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Quick look at cal-only events

what'’s the current situation ?
allGamma-GR-v7rOp2 cal only
direction reconstruction
energy reconstruction
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Direction reconstruction

# good direction reconstruction
® except for the = peak
#» 35% of events with CalZDir<0.1

CalEnergyRaw>1000 && acos(CalDir.McDir)>2
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Energy Reconstruction

# two algorithms : parametric (left), full profile (right))

#® CalEnergyRaw/McEnergy < 0.2 : no good energy recon-
struction

CalEnergyRaw>1000 && CalCsIRLn>1 && acos(CalDir.McDir)<0.5 CalEnergyRaw>1000 && CalCfpEffRLn>1 && acos(CalDir.McDir)<0.5
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CalTransRms

# large CalTransRms events ->
CalEnergyRaw/McEnergy<0.2

#® ->requiring CalTransCal<50

CalEnergyRaw>1000 && acos(CalDir.McDir)<0.5
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Back to direction reconstruction

# CalTransRms doesn’t cure the = peak

Cal En erg y RaW>1000 CalEnergyRaw>1000 && CalTransRms<50 && acos(CalDir.McDir)>2
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Where are these events ?

# position doesn’t help to reject the = peak

CalzDir<0.1 && acos(CalDir.McDir)<2 CalzDir<0.1 && acos(CalDir.McDir)>2
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_ever arm problem ?

# almost all the energy is deposited in one layer
#® 7 peak: 35% -> 12% of events with CalZDir<0.1

| CalzDir<0.1 |
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Back to energy reconstruction

# max(CalELayer/CalEnergyRaw)<0.8

| CalzDir<0.1 | | CalzDir<0.1 |

S S S S S 1800
] T - (T 60
' S : ; 1600

50

'_\

©
|

miax(CEalEL%iyer)?CalEgnergfyRa\év<0.$

o]
!
¢

1400 m@ax(CfalELéyer)é/CalEfnerdyRa\éwo.é:B

1200
40

o
|
»

|

1000

o
[
1

30 goo

o C_@Enggy%aw/.MCqurgy
T

~
[

03_ ....... LA ..... ._ = o[ —20 600

0.2 ...... - 400

OAFe b T 200

S b o T i'

OIIII Ll L1111 IIIIIIIIiIIIIiII

0 -
0O 0102 03 04 05 06 07 08 09 1 0O 01 02 03 04 05 06 07 08 09 1
max(CalELayer)/CalEnergyRaw CalEnergyRaw/McEnergy

Ph. Bruel - Analysis meeting - 29/08/2005 — p.8/18



Radiation length in cal

#® CalCsIRLn<1 peak ?
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PSF in mrad : no cut
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PSF in mrad - after cuts
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Parametric (CalCsIRLN>4)
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Full profile (CalCfpEffRLn>4)

[ resolution |

5.5 5.5

N Sl

° o

() (@) :

D g L 1.02

S5 S 5+

=1 S [

o 18.5% 11.1% o L

o S L

4.5 4.5
i 0.98
1.0%

0.96

3.5 3.5 0.94

0.92

?31 -0.9 -0.8 -0.7 -0.6 -05 -04 -0.3 -0.2 -0.1 -0 %1 -0.9 -0.8 -0.7 -0.6 -05 -0.4 -0.3 -0.2 -0.1 -0
McZDir McZDir

Ph. Bruel - Analysis meeting - 29/08/2005 — p.17/18



Conclusions

# what'’s the current situation ?
# after rather simple cuts : quite good !
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